MOTOR : CGRUPO MOTOR

GRUPO MOTOR

Rating: Not Rated Yet
Price:

Variant price modifier:
Base price with tax:
Price with discount:
Salesprice with discount:
Sales price:

Sales price without tax:

Discount:

Tax amount:

Ask a guestion about this product

Description Ref. Titulo Codigo
1 CUBRE 112-1.2-1
FILTRO DE
AIRE
2 112-2.1-2
3 TORNILLO 112-B5789
M5X75
4 TAPA, 112-2.1.1
FILTRO DE
AIRE
5 JUNTA, 112-42F-3
FILTRO DE
AIRE
6 112-2FD.1
7 JUNTA, CA 112-42F-4

1/


https://cprrepuestos.com.ar/images/stories/virtuemart/product/grupo motor7.jpg

MOTOR : CGRUPO MOTOR

10

11

12

13
14

15

16
17
18
19
20

211
21.2

21.3

21.4

215

22

23

24
25

26
27

28
29

30

31
32
33

JUNTA,
ADMISION
TORNILLO

M5X12

CUBRE

CILINDRO

CILINDRO
PERNO
6X12

TORNILLO
35
FLAPER
VALVULA
CIGUENAL
CHAVETA,
CIGUENAL
PISTON
ARO DE
PISTON
ARO DE
PISTON 2

KIT DE
AROS
SEGURO
DE
PISTON
EJE DE
PISTON
BIELA
TAPA DE
BIELA
RETEN
TORNILLO
M5X25

ESTATOR
TORNILLO
M5X20

BASE
RETEN
TORNILLO
M5X25

112-42F-5

112-42F-6

112-74.13

112-2F-16

112-F.14-2

112-1.2.1
112-119.1

112-B/T276

112-074.4
112-F.9-10
112-F.9-11

112-D.2-1
112-T1099

112-2.13-1
112-2.13-2

112-2.13-3

112-3-4,5

112-80285

112-02.01

112-F.13.6

112-3.1-1
112-3.1-2

112-3.1-3

112-F.11.1

112-2F-15

112-2FD-2
112-2F.12

2/



MOTOR : CGRUPO MOTOR

34
35
36

37

38

39

40
41

42

43
44

45

46

a7

48

49

50

51

52

53

54
55

56

57

58

59

60

61

RETEN
TORNILLO

TUBO, MA
NGUERA
SOPORTE,
CUBRE
VOLANTE

TAPON DE
ACEITE
RETEN

MEDIDOR

DE ACEITE
ROTOR

TORNILLO
PLATO

TUERCA
M10X1,25
CUBRE
VOLANTE

TUERCA
M5
TUERCA
M5X16

CUBRE
MOTOR
TUERCA
M5
TORNILLO
DOBLE
ROSCA
TORNILLO
M5X35
ESCAPE
SOPORTE,
ESCAPE
BALANCIN
INFERIOR
EJE DE
BALANCIN
VALVULA
DE
ESCAPE
VALVULA
DE
ADMISION
RESORTE
DE
VALVULA
RETEN DE
VALVULA

112-2F-12
112-D.12.1
112-80290

112-15329

112-2F-11

112-42-10
112-42F-9

112-2.11-2

112-2F-14
112-2F-21

112-T6177

112-2F.10

112-42F.8

112-177.1

112-42F.4

112-183.1

112-42F-7

112-74.17

112-42F.5
112-42F-8

112-F.9.1

112-F.9-9

112-F.9-7

112-F.9-8

112-F.9-1

112-F.9-2

3/



MOTOR : CGRUPO MOTOR

62

63

64

65

66
67

68

69

70

71

72

73

74
75

76

77

78

JUNTA,
TAPA DE
CILINDRO
BUJIA
TAPA DE
CILINDRO
EJE PINON
RETEN

JUNTA, EN
GRANAJE
BALANCIN
SUPERIOR
VARILLA,
BALANCIN

PERNO,
EJE

SEGURO
TAPA
LATERAL
ROTOR,
MOTOR
DE

ESTATOR,
MOTOR
DE

SOPORTE
PATIN DE

112-A5RTC

112-2F-20

112-2F-17

112-5.1-1

112-5.2.86
112-F.15-3

112-5.1-2

112-F.9-3

112-F.9-4

112-F.9-14

112-F.9-6

112-F.9-5

112-00.35
112-1.5-1

112-80295

112-80300

112-6.11-2

4/


http://www.tcpdf.org

